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 Choose the correct answer in the following questions: 

 

1-       The end behavior of   𝒚 = 𝒇(𝒙) = −𝟐𝒙 is: 

 

              a-    𝐥𝐢𝐦𝒙→−∞ 𝒇(𝒙) =  𝟎        ,      𝐥𝐢𝐦𝒙→∞ 𝒇(𝒙) = − ∞                  
              b-    𝐥𝐢𝐦𝒙→−∞ 𝒇(𝒙) =  ∞        ,      𝐥𝐢𝐦𝒙→∞ 𝒇(𝒙) =   ∞                  

         c.     𝐥𝐢𝐦𝒙→−∞ 𝒇(𝒙) =  𝟏        ,     𝐥𝐢𝐦𝒙→∞ 𝒇(𝒙) =  − ∞                         
              d-    𝐥𝐢𝐦𝒙→−∞ 𝒇(𝒙) =  𝟎        ,     𝐥𝐢𝐦𝒙→∞ 𝒇(𝒙) =   ∞                  

 

2 -        Use the graph of   f(x) = 𝟐𝒙  to describe the transformation that result in the  

               graph of        𝒈(𝒙) = − 𝟏𝟑 (𝟐𝒙)    : 

 

a-  𝑹𝒆𝒇𝒍𝒆𝒄𝒕𝒆𝒅 𝒐𝒏 𝒚 − 𝒂𝒙𝒊𝒔 𝒕𝒉𝒆𝒏 𝒄𝒐𝒎𝒑𝒓𝒆𝒔𝒔𝒆𝒅 𝒗𝒆𝒓𝒕𝒊𝒄𝒂𝒍𝒚 𝒘𝒊𝒕𝒉 𝒇𝒂𝒄𝒕𝒐𝒓 𝟏𝟑                                   
                  b-    𝑹𝒆𝒇𝒍𝒆𝒄𝒕𝒆𝒅 𝒐𝒏 𝒙 − 𝒂𝒙𝒊𝒔 𝒕𝒉𝒆𝒏 𝒆𝒙𝒑𝒂𝒏𝒅𝒆𝒅 𝒗𝒆𝒓𝒕𝒊𝒄𝒂𝒍𝒚 𝒘𝒊𝒕𝒉 𝒇𝒂𝒄𝒕𝒐𝒓 𝟑                                 
                c.     𝑹𝒆𝒇𝒍𝒆𝒄𝒕𝒆𝒅 𝒐𝒏 𝒙 − 𝒂𝒙𝒊𝒔 𝒕𝒉𝒆𝒏 𝒆𝒙𝒑𝒂𝒏𝒅𝒆𝒅 𝒉𝒐𝒓𝒊𝒛𝒐𝒏𝒕𝒂𝒍𝒚 𝒘𝒊𝒕𝒉 𝒇𝒂𝒄𝒕𝒐𝒓 𝟑                                  
                d-    𝑹𝒆𝒇𝒍𝒆𝒄𝒕𝒆𝒅 𝒐𝒏 𝒙 − 𝒂𝒙𝒊𝒔 𝒕𝒉𝒆𝒏  𝒄𝒐𝒎𝒑𝒓𝒆𝒔𝒔𝒆𝒅 𝒗𝒆𝒓𝒕𝒊𝒄𝒂𝒍𝒚 𝒘𝒊𝒕𝒉 𝒇𝒂𝒄𝒕𝒐𝒓 𝟏𝟑 

 
3 -     Find the value of an investment A  ,if the principal  P= 500 AED ,  

             the rate = 3%  , and the time  t=5 years , if the interest is compounded continuously ?  

 
 

                a-    𝟓𝟕𝟗. 𝟔𝟑𝟕                 b-    𝟓𝟖𝟎. 𝟗𝟏𝟕                   c.     𝟓𝟗𝟎                                         d-    𝟔𝟎𝟎    
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3 -      Evaluate    𝐥𝐨𝐠𝟐 𝟏𝟏𝟔  =    
                  

 

               a-    −𝟒                               b-    𝟒                             c.     
𝟏𝟒                                   d-    

−𝟏𝟒     
 

4-      Evaluate    𝒍𝒐𝒈 𝟎. 𝟎𝟎𝟎𝟎𝟎𝟏 =   
                   

         a-        −𝟔                            b-     𝟏𝟔                               c.           𝟔                           d-    
−𝟏𝟔     

 

 

5-      Evaluate    𝟓𝒍𝒏 (𝒆−𝟑)    
                   

            a-         −𝟑                               b-      𝟏𝟓                          c.        −𝟖                            d-    −𝟏𝟓    
 

6-      Evaluate    𝒍𝒏 (−𝒆)    
                   

            a-         𝒏𝒐𝒕 𝒅𝒆𝒇𝒊𝒏𝒆𝒅            b-      𝟔                           c.            𝟎                              d-     −𝟔    
 

7-   Explain how to transform the graph of  𝒇(𝒙) = 𝐥𝐨𝐠𝟐 𝒙  into the graph of the function  𝒈(𝒙) =𝐥𝐨𝐠 𝟐(𝒙 + 𝟐)which graphed below: 

            a-  The graph of  f  Shifted 2 units left.   

           b.  The graph of  f  Shifted 2 units right.  

           c.  The graph of  f  Shifted 2 units up. 

           d.  The graph of  f  Shifted 2 units down. 
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8-  The domain,  range,  x-intercept ,  and vertical asymptotes respectively for 𝒇(𝒙) =𝐥𝐨𝐠𝟕(𝒙 + 𝟒)      𝒂𝒓𝒆 : 
  

a-    Domain: ( −𝟒 , ∞ ), 𝑹𝒂𝒏𝒈𝒆: [ 𝟎, ∞), 𝒙 − 𝒊𝒏𝒕𝒆𝒓𝒄𝒆𝒑𝒕: − 𝟏 ,  𝒗𝒆𝒓𝒕𝒊𝒄𝒂𝒍 𝒂𝒔𝒚𝒎𝒑𝒕𝒐𝒕𝒆𝒔 ∶  x = 0  . 

 

b .  Domain:   (𝟒 , ∞ )  ,   𝑹𝒂𝒏𝒈𝒆: 𝑹, 𝒙 − 𝒊𝒏𝒕𝒆𝒓𝒄𝒆𝒑𝒕: − 𝟑 , 𝒗𝒆𝒓𝒕𝒊𝒄𝒂𝒍 𝒂𝒔𝒚𝒎𝒑𝒕𝒐𝒕𝒆𝒔 ∶  x = -4.  

 

  c.      Domain: ( −𝟒 , ∞ ), 𝑹𝒂𝒏𝒈𝒆: 𝑹, 𝒙 − 𝒊𝒏𝒕𝒆𝒓𝒄𝒆𝒑𝒕: −𝟑 ,    𝒗𝒆𝒓𝒕𝒊𝒄𝒂𝒍 𝒂𝒔𝒚𝒎𝒑𝒕𝒐𝒕𝒆𝒔 ∶  x = -4  .  

        

         d-     Domain: ( 𝟎 , ∞ ), 𝑹𝒂𝒏𝒈𝒆: 𝑹, 𝒙 − 𝒊𝒏𝒕𝒆𝒓𝒄𝒆𝒑𝒕: −𝟑 , 𝒗𝒆𝒓𝒕𝒊𝒄𝒂𝒍 𝒂𝒔𝒚𝒎𝒑𝒕𝒐𝒕𝒆𝒔 ∶  x = -4  . 

 

9-  Choose the graph of the function f(x) that satisfies the following  conditions    𝐥𝐢𝐦𝒙→𝟏+ 𝒇(𝒙) = −∞    ,      𝐥𝐢𝐦𝒙→∞ 𝒇(𝒙) = ∞    ,      𝒇(𝟐) = 𝟎   
a.     b.       

 

 

 

 

  

c.                                                                                    d.                          
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10- Express   𝒍𝒏 𝟎. 𝟕    in term of   ln 2  , ln 5 , ln 7      : 

       a.  𝒍𝒏𝟕 − 𝒍𝒏𝟐 − 𝒍𝒏 𝟓                                               b.      𝒍𝒏𝟕 − 𝒍𝒏𝟐 + 𝒍𝒏 𝟓   
              c.  −𝒍𝒏𝟕 + 𝒍𝒏𝟐 − 𝒍𝒏 𝟓                                            d.       𝒍𝒏𝟕 + 𝒍𝒏𝟐 + 𝒍𝒏 𝟓  

    

 11 - 

 

         a.𝟏𝟐𝟏                                     b. 𝟏𝟎𝟑𝟓𝟗𝟑                            c.  𝟐𝟓𝟏                                d. 𝟐. 𝟑𝟕𝟗  
 

12 -    Evaluate        𝟑𝟔 𝒍𝒏 𝒆𝟎.𝟓 − 𝟒𝒍𝒏 𝟏𝒆−𝟓  : 

        a.  𝟐                                          b. −𝟐                             c.   𝟑𝟐                                    d. 𝟏𝟑   

   

   13 - Expand      𝒍𝒐𝒈 (𝟐𝒙𝟓√𝒚𝒛𝒓 √𝒎𝟑 )       
         a.    𝒍𝒐𝒈𝟐 + 𝟓 𝒍𝒐𝒈𝒙 + 𝟎. 𝟓 𝒍𝒐𝒈𝒚 + 𝟎. 𝟓𝒍𝒐𝒈𝒛 − 𝒍𝒐𝒈𝒓 − 𝟏𝟑  𝒍𝒐𝒈𝒎            
         b.    𝒍𝒐𝒈𝟐 + 𝟓 𝒍𝒐𝒈𝒙 + 𝟎. 𝟓 𝒍𝒐𝒈𝒚 + 𝟎. 𝟓𝒍𝒐𝒈𝒛 − 𝒍𝒐𝒈𝒓 + 𝟏𝟑  𝒍𝒐𝒈𝒎    
         c.     𝒍𝒐𝒈𝟐 + 𝟓 𝒍𝒐𝒈𝒙 + 𝟎. 𝟓 𝒍𝒐𝒈𝒚 + 𝒍𝒐𝒈𝒛 − 𝒍𝒐𝒈𝒓 − 𝟏𝟑  𝒍𝒐𝒈𝒎                   
         d.      𝒍𝒐𝒈𝟐 + 𝟓 𝒍𝒐𝒈𝒙 + 𝒍𝒐𝒈𝒚 + 𝟎. 𝟓𝒍𝒐𝒈𝒛 − 𝒍𝒐𝒈𝒓 − 𝟏𝟑  𝒍𝒐𝒈𝒎    
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      14- Condense       𝟐𝒍𝒐𝒈𝒙 + 𝟑𝒍𝒐𝒈(𝒚 + 𝟏) − 𝟒𝒍𝒐𝒈𝒙 − 𝟎. 𝟓𝒍𝒐𝒈𝒚      
         a.     𝒍𝒐𝒈 𝒙𝟐(𝒚+𝟏)𝟑𝒙𝟒√𝒚                                                      b.     𝒍𝒐𝒈 𝒙𝟐−(𝒚+𝟏)𝟑𝒙𝟒−√𝒚     
         c.    𝒍𝒐𝒈 𝒙𝟐+(𝒚+𝟏)𝟑𝒙𝟒+√𝒚                                                     d.       𝒍𝒐𝒈 𝒙𝟒√𝒚𝒙𝟐(𝒚+𝟏)𝟑  
      15- Expand       𝒍𝒐𝒈𝟓 ( 𝒙𝟕√𝒙𝟑+𝟏𝟑 )       

         a.   𝟕 𝒍𝒐𝒈𝟓𝒙 + 𝟏𝟑 𝒍𝒐𝒈𝟓(𝒙𝟑 + 𝟏)                     b.       𝟕 𝒍𝒐𝒈𝟓𝒙 − 𝒍𝒐𝒈𝟓𝒙 + 𝟏𝟑  𝒍𝒐𝒈𝟓𝟏    
         c.  𝟕 𝒍𝒐𝒈𝟓𝒙 − 𝟏𝟑 𝒍𝒐𝒈𝟓(𝒙𝟑 + 𝟏)                      d.          𝟕 𝒍𝒐𝒈𝒙 − 𝟏𝟑 𝒍𝒐𝒈(𝒙𝟑 + 𝟏)  

 

      16-Approximate the value of     𝒍𝒏𝟏𝟎𝟖     given that   ln2 ≈ 0.7   ,  ln 3 ≈ 1.1 

        a.    𝟒                             b.   𝟐. 𝟔                 c.   𝟒. 𝟕                                         d.   𝟓. 𝟎𝟖  
 

      17-  Which of the following functions corresponds to the graph below   

a.                                                                                          

b-                                                         

c.  

d.                                                        
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      18-   Which of the following functions corresponds to the graph below   

a.    𝒍𝒏𝟏𝟎𝒙                                                                                      
b-     𝟏𝒍𝒏𝟏𝟎  𝒍𝒏𝟏𝟎𝒙                                                 

c.    𝟏𝒍𝒏𝟏𝟎  𝒍𝒏(𝒙 − 𝟏) 

d.      𝟏𝒍𝒏𝟏𝟎  𝒍𝒏𝒙                   

                     

      19-  Evaluate   𝒆𝒍𝒐𝒈𝟓 𝟓𝒍𝒏𝒙
      :   

        a.   𝒙                                           b.  1                                c.  −𝒙                                   d.  𝒆 

 

     

 20-    The solution of          𝟏𝟔𝟑𝒙+𝟑 =  𝟑𝟐𝟑𝒙      is: 

        a.  𝒙 = 𝟒                                    b.  x  =  1                      c. x = 𝟐                                    d. 𝒙 = −𝟒 

 

     21- The number of people P in millions using two different search engines to surf the  

           Internet t weeks after the creation of the search engine can be modeled by  

            𝑷𝟏(𝒕)  = 𝟏. 𝟓𝒕+𝟒  𝒂𝒏𝒅   𝑷𝟐 (𝒕) =   𝟐. 𝟐𝟓𝒕−𝟑.𝟓 , respectively. During which week did  

            the same number of people use each Search engine: 

        a.      𝟏𝟎                         b.           9                             c.      11                                       d.         𝟏𝟐 
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22-  The solution of          𝒍𝒐𝒈𝟓𝒙 =  𝒍𝒐𝒈𝟓 (𝒙 + 𝟔) −  𝒍𝒐𝒈𝟓𝟒       is: 

        a.           𝒙 = −𝟑                                                     b.          𝒙 = −𝟐        
        c.           𝒙 = 𝟑                                                         d.          𝒙 = 𝟐        
 

 

23-   The solution of     𝟔𝒙−𝟐  =  𝟓𝟐𝒙+𝟑     closest to the nearest hundredth is : 

 

        a.           𝒙 = −𝟓. 𝟖𝟗                                              b.          𝒙 = −𝟓. 𝟗𝟎        
        c.           𝒙 = 𝟓. 𝟖𝟗                                                  d.          𝒙 = −𝟓. 𝟗𝟎        
 

 

24-     The solution of         𝒍𝒐𝒈𝟐 (𝟐𝒙 − 𝟔) = 𝟑 + 𝒍𝒐𝒈𝟐 𝒙       is: 

 

      a.        𝒙 =  −𝟏                                                        b.          𝒙 = 𝟐        
     c.          𝒙 = 𝟏                                                          d.          ∅       

 

 

25-    The solution of         𝟗 <  𝟑𝒚 < 𝟐𝟕       is: 

 

      a.        (𝟐 , 𝟑)                                                          b.          [𝟐 , 𝟑]       
       c.        (𝟗 , 𝟐𝟕)                                                       d.          ∅       

 

26-   The solution of         𝟏𝟔𝒙 + 𝟒𝒙 − 𝟔 = 𝟎             is: 

 

      a.       𝒙 = 𝟐                                                          b.          𝒙 = 𝟎. 𝟓      
       c.       𝒙 = −𝟐                                                      d.          ∅      


